BOARD REVIEW QUESTIONS  (MM—44-45-46) – SESSION NO. 24,  May 1, 2003
DIRECTIONS:  Each of the numbered items or incomplete statements in this section is followed by answers or by comple​tions of the statement. Select the ONE lettered answer or completion that is BEST in each case and fill in the circle contain​ing the corresponding letter on the answer sheet.

1. 
Which of the following statements concerning cardiovascular physiology in a healthy term neonate is true?

(A)
Heart rate is increased in response to hypoxemia

(B)
Heart rate increases reflexly in response to hypotension

(C)
Stroke volume increases in response to decreased systemic vascular resistance

(D)
Stroke volume increases in response to bradycardia

(E)
Stroke volume is near-maximal under resting conditions

91A-86 (44)

2. 
At the time of cesarean delivery, thick dark meconium is noted and the newborn is flaccid, apneic, bradycardic, and cyanotic.  The most appropriate initial action is

(A)
atropine administration

(B)
sodium bicarbonate administration

(C)
naloxone administration

(D)
controlled ventilation

(E)
tracheal suctioning

91A-107 (44)

3. 
The most effective treatment of severe carbon monoxide poisoning in a 2-year-old child is

(A)
intravenous administration of methylene blue

(B)
intravenous administration of thiocyanate

(C)
intravenous administration of thiosulfate

(D) exchange transfusion

(E) hyperbaric oxygenation

91B-48 (44,22)

4.
 A full-term newborn has marked respiratory distress in the delivery room. Breath sounds are asymmetric and the abdo​men is scaphoid.  Which of the following maneuvers is most appropriate?

(A)
Hyperventilation with bag and mask

(B)
Intubation and ventilation with positive end-expiratory pressure

(C)
Intubation and ventilation with zero end-expiratory pressure

(D)
Bronchoscopy

(E)
Insertion of a chest tube

91B-63 (44)

5.
A 10-week-old infant born at 28 weeks’ gestation is scheduled for elective repair of bilateral inguinal hernias. It is most appropriate to

(A)
delay the operation until the infant is 6 months old

(B)
transfuse blood preoperatively if hemoglobin concentration is 9 g/dl

(C)
avoid tracheal intubation

(D)
limit inspired oxygen concentration to less than 50%

(E)
monitor for apnea for 24 hours postoperatively

91B-92 (44)

6.
Compared with adults, neonatal respiratory function is characterized by

(A)
a lower ratio of dead space to tidal volume

(B)
a more compliant chest wall

(C)
a more positive intrapleural pressure at end-expiration

(D)
less susceptibility to atelectasis

(E)
the same oxygen requirement per kilogram of body weight

92A-97 (44)

7.
An 18-month-old child with tetralogy of Fallot is anesthetized with halothane and nitrous oxide. Following intubation, oxygen saturation decreases abruptly from 85% to 45%. The most effective treatment is

(A)
discontinuation of halothane

(B) hyperventilation

(C) intravenous epinephrine

(D) intravenous phenylephrine 

(E) positive end-expiratory pressure

92A-127 (20,44)

8.
Compared with the adult airway, the airway of an infant is characterized by

(A)
greater narrowing at the cricoid ring

(B)
a less rigid epiglottis

(C)
a more caudad laryngeal opening

(D)
a relatively smaller tongue

(E)
relatively larger tonsils

92A-145 (5,44)

9.
The most important anesthetic consideration in Pierre Robin syndrome is

(A)
anterior tilt of the larynx

(B)
hyperplasia of the internal surface of the maxilla

(C)
mandibular hypoplasia

(D)
hypertrophy of the epiglottis

(E)
tracheomalacia

92B-2 (44,5)

10. 
A 5-year-old child is brought to the emergency department in considerable respiratory distress. He is sitting leaning for​ward and drooling. He was well until four hours ago, when temperature increased to 38.90C and he complained of a sore throat. The most appropriate initial management is to

(A) administer nebulized racemic epinephrine

(B) gently examine the airway with a tongue blade

(C) obtain a lateral radiograph of the neck

(D) perform a rapid induction-intubation sequence

(E) perform inhalation induction without cricoid pressure

92B-37 (44)

11.
After an uncomplicated cesarean delivery, a full-term neonate has intermittent cyanosis. Diaphragmatic effort is vigor​ous and respiratory distress is relieved while crying. The most likely diagnosis is

(A)
amniotic fluid aspiration

(B)
choanal atresia

(C)
diaphragmatic hernia

(D)
tetralogy of Fallot

(E)
tracheoesophageal fistula

92B-60 (44,19)

12.
An infant becomes cyanotic and hypotensive after ventilatory pressures increase to 45 cmH2O during closure of the abdominal wall at the end of a gastroschisis repair. The most appropriate next step is to

(A)
administer a muscle relaxant

(B)
administer 5% dextrose in lactated Ringer’s solution 10 ml/kg

(C)
change the endotracheal tube

(D)
ask the surgeon to insert a chest tube

(E)
ask the surgeon to reopen the abdomen

92B-73 (44,22)

13.
A 3.3-kg neonate is brought to the operating room for repair of a left diaphragmatic hernia. A 3-mm endotracheal tube is placed to a depth of 9 cm. Initial arterial blood gas values from a right radial catheter while spontaneously breathing oxygen 50% are PaO2 82 mmHg, PaCO2 41 mmHg, pH 7.33, and base excess -5. After reduction of the hernia (during closure of the abdomen), vigorous attempts to expand the atelectatic lung are unsuccessful. The infant rapidly becomes very dusky, heart rate is 60 bpm, breath sounds are distant and squeaky bilaterally, and pulmonary compliance is decreased.

Which of the following should be done first?

(A) Obtain a radiograph of the chest

(B) Place a chest tube on the left side

(C) Place a chest tube on the right side

(D) Withdraw the endotracheal tube 1 cm and suction

(E) Reopen the abdomen

92B-74 (44,22)

14.
Infants with untreated pyloric stenosis are at increased risk for each of the following EXCEPT

(A)
congenital heart disease

(B)
dehydration

(C)
hypokalemia

(D)
increased gastric acidity

(E)
metabolic alkalosis

92B-107 (44)

15.
An 8-kg, 1-year-old child has a measured blood loss of 50 ml during the first two hours of a rectal pull-through opera​tion. Preoperative hematocrit was 31%. Balanced saline solution 150 ml has been administered for replacement. Urine output has been 2 ml for the last hour, heart rate is 160 bpm, and blood pressure is 40/15 mmHg.

The most appropriate fluid therapy is

(A)
25% albumin

(B)
balanced salt solution

(C)
balanced salt solution and mannitol

(D)
5% dextrose in 0.45% saline solution

(E)
packed red blood cells

93A-73 (29,44)

16.
Which of the following complications of caudal anesthesia with 0.25% bupivacaine is more likely in children than in adults?

(A)
Intravascular injection

(B)
Neurotoxicity

(C)
Profound motor block

(D)
Systemic toxicity

(E)
Total spinal block

93A-149 (16,44,14)

17.
During enflurane anesthesia for colectomy in a 75-year-old man with sepsis, urine output decreases to 10 ml/hr. Heart rate is 120 bpm, blood pressure is 100/50 mmHg, central venous pressure is 10 mmHg, and pulmonary artery occlusion pressure is 15 mmHg. The most appropriate management at this time is to

(A)
measure cardiac output

(B)
increase fluid administration

(C)
infuse dopamine

(D)
administer propranolol

(E)
switch from enflurane to isoflurane

90A-3 (7,31,45)

18.
The best indication that a patient is ready for discharge from an outpatient facility after spinal anesthesia is return of

(A)
pinprick sensation to the S4-5 dermatome

(B)
micturition

(C)
plantar flexion

(D)
proprioception of the big toe

(E)
knee extension

92B-71 (46,16)

DIRECTIONS: For each of the questions or incomplete statements below, ONE or MORE of the answers or completions given is correct. On the answer sheet fill in the circle containing

 A  if only 1, 2 and 3 are correct,

 B  if only 1 and 3 are correct,

 C  if only 2 and 4 are correct,

D  if only 4 is correct,

 E  if all are correct.

FOR EACH QUESTION FILL IN ONLY ONE CIRCLE ON YOUR ANSWER SHEET

DIRECTIONS SUMMARIZED


 A
B
C
D
 E

1,2,3
1,3
2,4
4
All are


only
only
only
only
correct

19.
The anesthetic management of a 3-week-old infant with pyloric obstruction includes

(1)
passage of an orogastric tube

(2)
emergency anesthesia and operation

(3)
treatment of metabolic alkalosis

(4)
intravenous infusion of dextrose 10% in water

90A-120 (44)

20.
Factors that cause postoperative hypoxemia following repair of congenital diaphragmatic hernia include

(1)
persistent fetal circulation

(2)
residual hypoplastic lung

(3)
pneumothorax

(4)
pulmonary surfactant deficiency

90A-124 (44)
